Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

1.0

Ratio

1

o
©
al

-
T

=
o@
N

1 10 . Gedf’

—=— DQM_mKkFit_TToriginal
—e— DQM_mkFit_TTNEWHS_ALLITERS
—— DQM_mkFit_ TTNEWHSMS_ALLITERS

o 0.1
£0.09
20.08
£0.07
0.06
0.05
0.04
0.03
0.02
0.01
1.0

clency

et

..............................................

..................................

Ratio

[y

E=—
F———
| —s—
[ =

o
©
a

[T
N
o
-
N
w

TP N

Efficiency vs ¢

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]

TITI T[T I T

||'-||||

TP @



	Contents
	Page 1


